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Question Number : 1 Question Id : 7150535050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Learning is
e § -

Options:

A relatively permanent change i behaviour due to experience

3T & HRUT cTdgR A IEiTehd TR aidde

Natural unfolding of inherited tendencies

X ., JUAETIT JAfAAT T Frerfas 9§ FherIor

SEL.IIIE‘ as .lllﬂtL}l‘CltiGll

. gRgFadr & A=

An innate quality

Uch wleHallcd UT
E 2

Question Number : 2 Question Id : 7150535051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Thinking 1z a
e § -

Options :

Physical activity

| % AR afarafe

Emotional activity

> % HalcHs ATdrare

Social activity

wm?ﬁﬁﬁ?

Cognitive activity

Jﬁﬂﬁﬂﬁqﬁ?ﬁﬁﬁ?

Question Number : 3 Question Id : 7150535052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following is NOT correct relating to Operant Conditioning
RraTagd e & Gay A e 3 O 9wl A d -
Options :
It 1= type R conditioning

- Ig R Y& F1 e ¢ |



Reinforcement comes after the act

forar & geard getdere giar § |

Behaviour 1s elicited

3.¢HSIHFITE'EIWW€IFIT§I

Response 1s voluntary

4.339%%1%‘%%@?11%

Question Number : 4 Question Id : 7150535053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The emotion associated with the instinct ‘escape’ 1s
A= @ 9di § Hefed §@491 § -
Options :

Anger
1. % P

Fear

Wonder

3 % MR

Love



Question Number : 5 Question Id : 7150535054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following 1s an unhealthy practice of assessment

FrT 7 4 g 3ohelel T 3T 99T -
Options :

Continuous Comprehensive Evaluation

Hdd HA Aol

Inclusion of creative work in assessment

3Thele] A FolellcHS AT HI HAEA

Balancing cognitive, affective and conative domains

HIAlEAICHS, AAcA® 3R foharcas aEl A Hele

Confined to Textbook based evaluation

UIGAYECS T Hediche de WA glelr

Question Number : 6 Question Id : 7150535055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

These theories revolve around the concept of Self

I Ricwid ¥ (37cH) @ 3auReT & 9RT 3 gA4d & -

Options :



Personality

ATedcd

1. %

Intelligence

et

2. %

Aptitude

o ST

Interests

.

Question Number : 7 Question Id : 7150535056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Primary motives are associated with
qreIfH® W U TEfd aid 6 -
Options :

Sociological well being

1$3Hm1ﬁ$mm

Psychological well being

Zﬁﬂmﬂﬁﬁmw



Philosophical well being
WEIGE o Ty

Biological well being

SAfae Feamor
4,

Question Number : 8 Question Id : 7150535057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT a criterion in insightful learning
T & § g 3iacfce 3199 &1 AFcs 787 ¢ -

Options :

The situation as a whole 1s perceived by the learner

TG HT 7§ fEufa &+ gAstar §

Learner judges the relationship between various factors involved in the

situation

- sferaATar IRfEufaal & afae fGfae srat & f gag Fr afa war g

Making trials and correcting errors

3¢qﬁamm%3ﬂtgﬁﬁﬁwaﬂm%‘i

There 15 a sudden grasping of the solution of the problem

4 % T8 HHEAT 1 GHTE HaeE GHS A 3 SO § |



Question Number : 9 Question Id : 7150535058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Chomsky, Language Acquisition Device enables children to acquire

IAGH & TR, AV 3ol 47 dedl $ SHA FEH Al ¢ |
Options:

Ideas about the rules of language

ST & AT & 39 & 399 #

Language consciously

gdd §9 & 919 & o H

Difference between various languages

fafdesr smuEit & 9= 3iav @ gHsE #

Language equally irrespective of their neurological status

3el dfehr fEufd & aracie AW & H@AR 9§ 3ol A

Question Number : 10 Question Id : 7150535059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If a child appears taller as compared to her / his peers of same age, we tend to
compare the height of the child with that of their parents. The attempt made

here 1s to have a look into the

TG IS o3H [ TSH WA I & WIS 1 Jeiell A elaeidy fG@rs g / & &
dl gH H 3T odls F Jelell 3HF AT § A FT 94T g @ | g T
Tgl W 38 S & foiv fovar ¢ -

Options :

Psvchological factor

AArdAAS FHE

Sociological factor

5 % HAMSIR FF

Biological factor

3.¢

Socio cultural factor

4.$3Hﬁflﬂﬁ$¥ﬂi‘—_ci?ﬁ$'b FH

Question Number : 11 Question Id : 7150535060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The research design to be used in a feedback study on the Effect of TV lessons on

the Performance of Grade VIII 18

U3 VIl & FIsaiest 9@ TV 916l & 99 W Sidqfee eaae # 39aier fhar I
ST RS & -

Options :



(Observation

S ERICT

Introspection

HIeH fAdEor

Case study

3 % B TG

Experimental

S IBIEIED

Question Number : 12 Question Id : 7150535061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
‘Halo effect’ in a rating scaleis a
e Thel A gl e’ § -
Options :
Cognitive bias

1, v SRAEIEE iR

Appreciation

.

Perceptual clarity

3QWW



Negative judgement

4w TPNICHE TorT

Question Number : 13 Question Id : 7150535062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Veda based on her talent is offered a job by one of the world's best companies.

That 12 a dream come true for her. At the same time she 1s hesitating to join as

she has to leave her mother alone. The conflict faced by Veda 12

deT B eI 9fdeT & IR W faed fT vF Ave el # aAtedr & 3o Fer |
00 gHg § q9g el SaEd Fa #7 i © o F=ifF 39 39 st sz
el o | d&l SH gded &I HiHeT T I o -

Options :

Approach — Approach

1$3W_W

Avoidance — Avoidance

- IR - 9 ER
Approach — Avoidance
YTHTH - ':lnﬁ q

3.

Avoidance — Approach

4 % RGN - 399H



Question Number : 14 Question Id : 7150535063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From the following categories, identify the persons who possess IQ less than 70
Artefad @t 7 4, 39 =afed &1 ggae P oad gef ofer (1Q)70 &
H g -

Options :

Mentally retarded

| v FERIE ¥ F FHg

Delinquents

s STOEER

Learning disabled

3T 3ETH

Truants

AR Tgel arelr

Question Number : 15 Question Id : 7150535064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In planning a lesson. decision of deciding the TLM to be used takes place during

this phase of teaching

95 &7 Aol delld AT RIETT & 3§ 9T & 39T T S arelr fRieTor e
el (TLM) & ai # o forar S ¢ -



Options :

Inter-active

Ha-aisha

Post active

g9 kT

Sub-active

39-OfshT

Pre-active

o-afra
W

Question Number : 16 Question Id : 7150535065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dominant style of leadership among the following

foie=T & ¥ siqea $r g Aol § -

Options :

Permissive leadership

3l AAdcd

1. %
Autocratic leadership
, o SR () Aqed



Laisezz—faire leadership

IEEdald sdcd

%®
Democratic leadership
dilehdiTdeh sidcd

4, % :

Question Number : 17 Question Id : 7150535066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the WRONG pair

Ireid SiEr JgareT

Options :

Erickson - Psycho-social development Theory

1. %

Kohler - Insight Theory

2. ® - : -

Skinner - Operant Conditioning Theory

, x PR - TR SE s Reara

Kohlberg - Information Processing Theory

4¢aﬂ%ﬂm‘r - AT FEEROT Theend



Question Number : 18 Question Id : 7150535067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

When there 15 high similarity between two learning situations, the probability 1s
high for this type of transfer of learning

o9 g 3o gRTEafdar & de sifde @A gidl 8. df 39 YhR & 3w &
TATACHOT $T HHET 329 @il ¢ -

Options :

Definitely negative

- @feaa ¥ § FFRIcHF

Definitely positive

Jﬁﬁﬁﬁmﬁmﬁﬂ?ﬁ

Either Pozitive or negative

AT af GFIcHS AT AFRIcHS

Neither positive nor negative

4w o dl OFRIcHE o g AhHIcHF

Question Number : 19 Question Id : 7150535068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The NCF 2005 recommended making the curriculum flexible and appropriate to

accommodate the diversity of school children meluding those with disabilities in
NCF 2005 = 3o 3&7# aedl §igd &hell aeal $1 fafdedr 1 garifed & &
fore areasar &1 erelien 3 39T aefiel 1 [ 6

Options:

only cognitive areas

hdel TAACHS & H

both cognitive and non-cognitive areas

z.wﬂmm?ﬁaﬂtﬂ?-mmaﬁﬁﬁﬁ

only non-cognitive areas

o, el I HaAETCAS &l A

either cognitive or non-cognitive areas

T ar AEcHS A1 T GAECHS &t &7

Question Number : 20 Question Id : 7150535069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In the motivational cycle, the starting point is the birth of a

39RO TR H, - - @l Sied YT &g @ |
Options :
Need

SIIEESIE Ty
1.¢



Satisfaction

e

2. & e

Eeinforcer

efeloldh

3.% 2

Incentive

RCIEG
4, %

Question Number : 21 Question Id : 7150535070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Erikson's period of identity Vs role confusion’ covers this stage of development

of an individual

UREHA gl SelH AR HH T FIel, Ueb Afdd & [9hrd 37 Hae
& G & -

Options :

Childhood

1% le-dTd820T

Infaney

5> w ST

Adulthood
3, S



Adolescence

4V IEEURIEE= )

Question Number : 22 Question Id : 7150535071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an attribute of a good facilitator

=1 7 Ig 3= gIHEFAr 1 AT 4G ¢ -
Options:

Knowledge of the learning styles

. siferere et &1 A

Skall of gbzervation

. Fdcllehe] hIrel

Discouraging attitude

Jaﬂiﬁqﬁﬁmﬁﬁaﬁfﬂqﬁr

Quality of Empathy

o Dy HB-DI-UT
. AT T 3

Question Number : 23 Question Id : 7150535072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Piaget has highlighted the role of the following factors in one’s cognitive make-

up and its functioning

et o ot safda & gaercas Havr 3 3o sRdear & v e R
H Y 3uh AfAF 9 g el ¢ -

Options :

Biological inheritance, maturation and experience

1 Jaﬁ?ﬁﬁ‘%ﬂﬂﬁﬂ{qﬁqﬁmﬁaﬁﬁﬁ

Only biological inheritance

, %E}ﬂﬁéﬁaﬁﬁnﬂaﬂ?

Only maturation

ohdel IY9Faar
3. %

Only experience

thael a3l
4, % -

Question Number : 24 Question Id : 7150535073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher asked a child ‘if I give you 4 chocolates and your friend 3 chocolates

each. what 1s the total number of chocolates given to you'. The child wrote down

4 and 3 and said 7. The stage of cognitive development of the child according to

Bruner 1s

U feein o avd @ qur “afe # o qr 4 didele 3N dReN AT A @R 3 didele
feu a gre Fol ool dishele QU 0" | g & 4 AR 3 for@r 3 7 g1 | TW
& IHTER dTd & HACHS TaehrE T 3 § -



Options :

Iconic representation stage

TguidAr gfafeea saeen

1. %

Syvmbolic representation stage

2« giila’lﬂqlq‘ Hﬁlﬁlﬁiiﬁl JHIET

Enactive representation stage

3.338%9%%@?[%

Sensory motor stage

4% TAET IcATcHS 3aEaT

Question Number : 25 Question Id : 7150535074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
As per the norms and standards given in the schedule to the RTE Act, 2009,
schools should have all weather building consisting of various facilities among

which one of the following 18 NOT mentioned

RTE sifafaaa 2009 # swady # U 10 Al 3R AFCS & HearR Thell A,
fafsieer giaemsit & |y g0 #6H & 3ejhel Haa gl AT, e Tt 7 4 sqer
Iooid gl [T AT § -

Options:

1. %



At least One class room for every teacher and an office-cum-store-cum-

head teacher’'s room

gie RIETF & o0 &7 T F7 U Fa7 3R th Hiiha-gg-e-gg-9u=
fRIaT FaT

Safe and adequate drinking water facility to all children

. Tl aedl & fov gefeid iR 9dicd dgeier i gigen

Laboratories for Science. Math. Social and Languages

3wﬁﬁﬁ,?ﬁﬁ,mﬁ$ﬁ?mﬁ$%@mnﬂﬁ

Separate toilets for girls and boys

. cIsTRal 3 o=l & foiv gus il=re

Question Number : 26 Question Id : 7150535075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The abnormalities of this gland usually lead to extremely shortness or tallness in

people
=g AT i AT e & 1T awer ar 31T o r g9 dr § -

Options :

Pituitary



Thyroid

2. % -

Thymus

3, % wRH

Adrenal

TSl

4. %

Question Number : 27 Question Id : 7150535076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to Kohlberg, during this stage the child's moral judgement is based on

the desire to obtain approval of others.

FIed & AR, 30 IaEM & N ded 7 aAfdd €U gall & SeAGe @
giftd & =67 W 3menfid giar & -

Options :

Stage I

e - |
1. %

Smge 11
, x HaE - I

Stage III

3 o STIEAT - IT1



Stage V

4 % FEEN -V

Question Number : 28 Question Id : 7150535077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An individual behaving like an mfant to cope with stressful situations indicates

this defense mechanism

daEqYT TR § SR & v o9 ve aafdd Ry & @@ sagr #
¢ of Ig 39 [T FHH B gelar ¢ -

Options:

Regression

1 I

Rationalization

g ATsToT

Projection

geyqoT

Repression

qH«

Question Number : 29 Question Id : 7150535078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The process of gradual disappearance of the conditioned response is known as

3iefeierel Gffhdr & hife® 9 8 7€ glel @1 YTohdT I &gl Sl ¢ -
Options :

Extinction

farercdteRToT

1.4 " "a

Spontaneous recovery

5 % gl Jel: IICd

Stimulus generalization

3. % ¢

Stimulus discrimination

4 % ARG G AE )

Question Number : 30 Question Id : 7150535079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
This type of institutions create a positive attitude among students towards
diversity

3 YR 1 T oEr F AR oS aereas SfER F 3cue S ¢ -

Options :

inclusive schools

1 AT qIoeene



linguistic minority institutions

? - - 5]

religious based mstitutions

o3 9y renfig gEene

special schools

Iy graememT
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Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension

frsfefad argrer ufer | fGu 1w geal & 31-35 3 & &gl 3T Ugalialv |

SHSTIRIUT U GREEHT o gl Uh qishal’ §, Sif Al Ud TOHey alid
¥ IR FAGR F Uhlhd Fe F YA X TE ¢ | Fg TRl 3l & qUel §
fotciell Hiela §3l | §Telifeh Hebedell & &9 & 5H ofeg &1 T4 99 Jge & 41g &
HIeT H gs, dlichel Y WIET FIAT U GARAIS T & i AR Far gHH
yreiietar i 3T AR A § |

rfeies §HT A Gheddl 1960 & U ¥ 9@ A IS o9 Halsas Hifged
& 3Tcilas AR Al o dfRae I Usg I AFGT FA-T o | debellh & dgat

& T §1 T Fiehar 3R dig gian 71, dfee dfidgey & ARl A A AR A
| 1991 7 difayd §g & [Eed dur SRdg efegarer & goq & gihar
e g3 @, s of 3w AREF WA F UE Agedqo! WaHd a1 AT | S AN
HAIST & AR § AT TR | SHF O I GRRICAS T ol FS AhNIcHAT|
HFASCIRIUT & AT 1T Hadl 378 gl 3 S § |

Sub questions

Question Number : 31 Question Id : 7150535081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
THSCRIOT FI FIferer ¢ -

Options :

- qREEA3T F GEdd

Jaﬁa?ﬁmaaﬁwa &Ll



- gigart 1 f9ged F3ar

4wmaﬂﬁa¥rm’ LT

Question Number : 32 Question Id : 7150535082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
FHSCIRT ¢ -

Options:

Question Number : 33 Question Id : 7150535083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
GrEileTdl & Hgal H s{HSCROT FI dofell ST & AT § -

Options :

ST qael O

1. %



_ hoifead Oifgc &
A T80ar O
d

4% qilgesr 9

Question Number : 34 Question Id : 7150535084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SficeH & N1 FHSAPOT AT —— | a1 T 9id & folv e fasey § -

Options :

, dam

1.

dig g a1

2. %

EEERIIS

3. #

4 v TR I

Question Number : 35 Question Id : 7150535085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



s IRNOUIHAREaET AR ARG ATH T AgcdIoT Taed &= =T |
Options :

. WifaEa ww

- difaaa gw &1 yafa

- AR dig &1 dlaadar

4. % *

Sub-Section Number : 2
Sub-Section Id : 715053251
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 7150535086 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension



feirsifeifaa gezier afer | fGu 1w yeat & 36-40 HEl 3¢ 9gdIi=iv |

foe-forad oo W &g e,
39 39 Te! &l oegdlc,
S AR A= &,

& Srar 9 9T Al FEr

g & el F@ ol gl
THAE Telal 9 & 941G
SO-Toad 927 W &g &,
3H-3H TG 1 gegdig |
afar 9T Jadfad Ham,

al &g Asg e JIT,

fAel Fa T, orae g &% |

Sub questions

Question Number : 36 Question Id : 7150535087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
id 30 TR =g AR § -

Options :

1.@'"5“_ébr



RE

Question Number : 37 Question Id : 7150535088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
92 &l YHIG {8 JHIT Feldl ¢ -

Options :

Question Number : 38 Question Id : 7150535089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Q-39 AR ATl A< § -
Options :

odr 3R diffg

1. #

@iffd 3 ot
2. ¢



3. % 3R

el 3 ol

Question Number : 39 Question Id : 7150535090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
qeR H1 S AR d9fFddl A7 3H e T TARad g3 ¢ -

Options :

Teld

1.9

Question Number : 40 Question Id : 7150535091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
o N HI AP 6 g Bl ¢ -
Options :

1.



Iolel o

2. % SECEDI
9A90T erecl A
3. ¢ "
od THid o
4, % s
Sub-Section Number : 3
Sub-Section Id : 715053252
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 41 Question Id : 7150535092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 42 Question Id : 7150535093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

IeHTGAT

’I_bé

dre-ag ==

@y Adr

4 MEZaCE ]

Question Number : 43 Question Id : 7150535094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 44 Question Id : 7150535095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 45 Question Id : 7150535096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 46 Question Id : 7150535097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1.4

Question Number : 47 Question Id : 7150535098 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 48 Question Id : 7150535099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 49 Question Id : 7150535100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 50 Question Id : 7150535101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 51 Question Id : 7150535102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 52 Question Id : 7150535103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 53 Question Id : 7150535104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

FSCTAN & 3eHold $T Hcdd HGThdl ¢ | I@ifehd 2reg @ 3197 ¢ -
Options:
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Question Number : 54 Question Id : 7150535105 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 55 Question Id : 7150535106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 7150535107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT F 3TER - 916 Al 3 —— # gl F 9T §, o Rew e A
ICd A gl § 17 Rad Eure 1 qfd & v @ fade § -

Options :
Iqcifeerar
1.¢

ATTeRIT
EOrIEl]

fawa gafaat

Question Number : 57 Question Id : 7150535108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 58 Question Id : 7150535109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 59 Question Id : 7150535110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 60 Question Id : 7150535111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:



Language II English

SectionId: 715053152
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715053253
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 7150535112 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions given. Choose the correct option

for each question.

Death 1s reported simply numerically-ten killed, three mjured. These faceless, nameless
dead seem non-human. It fails to arouse any deep feeling of loss or pain. The disasters like
the Bhopal gas tragedy. blast in Mumbai make us withdraw psychologically and resign
ourselves to the tragedy. The riots in particular cities have left people helpless. that 15, we
accepted death a reality to live with. If the reality seems threatening. the psychological
mechanism of denial 1s used: we say to ourselves it cannot happen in our city or to ourselves.
When tragedy strikes, the unconscious, sadistic and aggressive impulses are aroused in many
individuals. The gory details of tragic events are discussed clinically. news reports read and
compared. Many secretly relish such happenings and so discussions are held on them.
Though most will not consciously accept them. psychologists attribute such impulses to a
sense of irritation and depersonalisation which are common among city dwellers. This leaves

them immune to human sufferings.

Indifference to human suffering also stems from fear of law and the police. People shy
away from social responsibility due to the police and the law leaves people ncapable of
being responsive to human misery. Fear of reprisals 1s another important reason why people
turn away from suffering. The attackers generally have helper of the victums as their targets

because they are out to destroy every trace of being identified.

Sub questions

Question Number : 61 Question Id : 7150535113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What happens to the individuals when tragedy strikes somewhere?

Options :

Many never relish such happenings.
1. %



Most will consciously accept them.

o People will not shy away from social responsibility.

The unconscious. sadistic and aggressive impulses are aroused in many

4V individuals.

Question Number : 62 Question Id : 7150535114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What fails to arouse any deep feeling of loss or pain?

Options :
: Numerical reportage of victory
Numerical reportage of death
3 3 Numerical reportage of psychological impulses

Numerical reportage of Individuals 1ssue

Question Number : 63 Question Id : 7150535115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
What 1s common among the people living in cities?

Options :

1 % @ mechanism of non-denial

a deep feeling of loss or pam

2.

a sense of irritation and depersonalisation
3. .

reaction to human suffering
4, ®

Question Number : 64 Question Id : 7150535116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Why do people shy away from social responsibility?
Options :
due to their fear of law and the police

1. %

due to their busy life

3 % due to their own mental suffering

due to their conscious acceptance of the events



Question Number : 65 Question Id : 7150535117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means ‘retaliations’.
Options :

impulses

reprisals
2, v EEERES

tragedies

disasters

Sub-Section Number : 2
Sub-Section Id : 715053254
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 7150535118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The main source of his problems 1s his inability cope with stress.

Identify the appropriate preposition to complete the sentence.



Options :

of

for

4 % off

Question Number : 67 Question Id : 7150535119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The good news 1s that more o1l deposits being discovered in the east coast
region.

Choose the appropriate word to complete the sentence.
Options:

1 % 1

2 o are

where

, WIS



Question Number : 68 Question Id : 7150535120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The customer placed an order with list of 1tems.
Identify the appropriate phrase/word to complete the sentence.
Options:

a exhaustive

5> % the exhaustive

exhaustive

an exhaustive

Question Number : 69 Question Id : 7150535121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The player practiced hard he could not perform well.

Choose the appropriate word to complete the sentence.
Options :

50

but



if

011

Question Number : 70 Question Id : 7150535122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Birds a feather flock together.
Choose the correct option to complete the sentence.
Options:
of

1.+

01l

3 % with

for

Question Number : 71 Question Id : 7150535123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose the appropriate verb form to complete the sentences.
A: When did you complete your Post-graduation?

BT Post-graduation in 2021.

Options :

have completed

had completed

completed

was completed

Question Number : 72 Question Id : 7150535124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Walking is good health.

Choose the correct option to complete the sentence.
Options :

1wuf



1o

off

Question Number : 73 Question Id : 7150535125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify grammatically correct sentence.
Options :

The thief had been arrested by the police.
1. %

The thief had arrested by the police.
2 %

The thief have been arrested by the police.

The thief has arrested by the police.

Question Number : 74 Question Id : 7150535126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The man 1s suffering cancer.

Choose the correct word to complete the sentence.
Options :

1. = with

5 % off

from

of

Question Number : 75 Question Id : 7150535127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.

I for the past two days.
Options :

1 % reads

5 % reading

3 % read

4 have been reading



Question Number : 76 Question Id : 7150535128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the statements (a) and (b) and choose the right option.
(a) The reporter asked the actress, “When will you finish your movie?”

(b) The reporter asked the actress when she would finish her movie.

Options :

Only Sentence (a) 1s correct.

Only Sentence (b) 1s correct.

Both Sentences (a) and (b) are correct,

Both Sentences (a) and (b) are incorrect.

Question Number : 77 Question Id : 7150535129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

Iand Ramu are childhood friends.

A B = D



Options :

A

Question Number : 78 Question Id : 7150535130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct question tag to complete the following sentence.

She hardly walks after the accident.
Options:

doesn’t she?
1. ®

5 % don’tshe?

do she?

does she?



Question Number : 79 Question Id : 7150535131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the correctly spelt word from the given options.
Options :

comifttee

comimites

comunittee
3.¢

4 % committe

Question Number : 80 Question Id : 7150535132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Dhont 1s many other players in the world.

Choose the correct option to complete the sentence,
Options :
the most successful than

1. %

more successful than
2.



more successful then

successiul than

Question Number : 81 Question Id : 7150535133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the appropriate word to complete the sentence.

The company was taken by the rival company.
Options :

up

1. #

oOVer

in

4 % Ooff

Question Number : 82 Question Id : 7150535134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose the correctly sequenced sentence.

been/ Ambassador/ has/ Sachin Tendulkar/ named the ICC Brand
Options :
Sachin Tendulkar has been named the ICC Brand Ambassador.

1.4

The ICC Brand Ambassador. Sachin Tendulkar has been named.

2 %

Sachin Tendulkar been named has the ICC Brand Ambassador.
3.

The ICC Brand Ambassador has been named Sachin Tendulkar.
4, %

Question Number : 83 Question Id : 7150535135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the one which is different in meaning.

Options :

Attend the meeting or else you will be fired.
1. %

5 If you attend the meeting. you will be fired.

Unless you attend the meeting. you will be fired.
3. %



If you do not attend the meeting. you will be fired.
4, %

Question Number : 84 Question Id : 7150535136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the most acceptable form of subscription in Letter Writing.

Options :
v Yours faithtully

1.

Your’s faithtully

Yours® faithfully
3. %

Your's faithful

Question Number : 85 Question Id : 7150535137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Pick the objective of teaching English at Secondary level.

Options:

Write creatively and independently on general topics.,



Follow the instructions given in the target language.

Recite the small poems.
3 %

Write simple meaningtul sentences correctly.

Question Number : 86 Question Id : 7150535138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This question 1s easy to frame but 1t 1s difficult to evaluate its answer.
Options :

Multiple Choice Question

1. %

Essay Type Question
2.9

Very Short Answer Type
3. %

Short Answer Type
4. ®

Question Number : 87 Question Id : 7150535139 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

These courses are intentionally designed to utilize both mn-person and online class time

to achieve effective student learning.

Options:

Online courses

Offline courses

Hybrid Courses
3.¢

Virtual courses

Question Number : 88 Question Id : 7150535140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
*Appropriate headline’. This 1s a feature of the following discourse,

Options:

Choreography

Debate



News report
3.¢

& Speech

Question Number : 89 Question Id : 7150535141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘To get students acquainted with the lives and deeds of great men and women.” This

spectfic aim 15 achieved through teaching:

Options:
Letters
1.
5 Biographies

News articles

Fiction

Question Number : 90 Question Id : 7150535142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The following skills can be developed through mock mterviews

Options :

Reading and Writing

Speaking and Reading

Listening and Speaking

4. % Listening and Reading

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Mathematics

715053153
4

Online
Mandatory
30

30

30

Yes

0
1
715053255

Yes



Is Section Default? : null

Question Number : 91 Question Id : 7150535143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Three metal cubes with edges 9em.12em and 15cm respectively are melted

together and formed into a single cube, then the edge (in cm) of the resulting

cube 12

et o1 & ©e foleid ¥ 9em,12cm 3T 15cm &1 IR T O ST Il
39 g #1 i — cm A

Options :

1.\_‘{18

Question Number : 92 Question Id : 7150535144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a right angled AABC,right angleisat A,if tanB = 1,then sinBcosC =
AABC #HIUT 3ol § A 9 §H 0T ¢ IfG tanB =1 dd sinBcosC =

Options :



NIC

Question Number : 93 Question Id : 7150535145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If A = {x: x is a two digit natural number such that the sum of its digits is 9}, then the

number of subsets of A 15

TG A= {x:x Uh g 9G] o T G g o P F A9 |, dd A & I9aeadl &
e -

Options :

256

1024



Question Number : 94 Question Id : 7150535146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L -12 6 o
The product of the additive mverses of % i and add the multiplicative inverse

e .
of 5 o the product. then the result is

3 aarer gfeel e 3K — & e SR A & 2 A R

-12
5

=3 | o

:

Options:

128

35
1. %

128
35

401

280

401
280

Question Number : 95 Question Id : 7150535147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



HCF of 1860 and 2024
1860 3T 2014 &7 #Agdd FAIAIS ¢ -

Options :

1.«/’4

[l

Question Number : 96 Question Id : 7150535148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If0° < 6 < 90 ,then cot?8 + cot*@ =
afg 0" < 6= 907, AT cot? 8 + cot* g =

Options :

cot® 8 + cosec* @

. cosec* 8 + cosec? @

. cosec® 8 — cosec* @

cosec* 8 — cosec? @
4.



Question Number : 97 Question Id : 7150535149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If A = {x:x is an even natural number less than 30}.

B = {x:xis amultiple of 7and 7 < x < 40}, then n(A —B) =
e A= {x:x T GH THicdsh G&IT30 A FHA |,

B ={x:x 7HIUR IR 7 < x = 40}, a9 n(A-B) =

Options :

—
L]

Question Number : 98 Question Id : 7150535150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The mathematician who evolved the formulae for finding out the circumference

and area of a circle 13

dg Uit forefer ad 1 aRfe 3T abher Ad e & @A 6 @t #

Options:

1.



Euler

8 ‘ 2
Euchd
2 2 o™,
Aryabhata
3”a3ﬂﬁ
3 ®
Archimedes
4.

Question Number : 99 Question Id : 7150535151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

logg 3 + log, 0.0001 =

Options:
-5
.
1. #*
2
2.% 2



B | =]

Question Number : 100 Question Id : 7150535152 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two dice, one blue and one green are thrown at the same time, then the

probability that the sum of the two numbers appearing on the top of the dice 13

a prime number 1s

ol 9. U offel 3R UF G B U T Fbel W gl 96 & I A arel

T3 & AT ¢ AT 9IeT gl o Tammedar

Options :

O | b

Question Number : 101 Question Id : 7150535153 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
A shopkeeper earns a profit of ¥3 by selling a book and incurs a loss of 25 paise
per pen while selling old stock of pens. In a particular month shopkeeper earns

neither profit nor loss. If he sold 63 books. then the number of pens he sold 13

U GFEGR Pl JEae d9d T I3 oA BT ¢ 3 U & W Wik § 9 a7

T 25 & gifel gl & | v A F gEEER B A at ot gar § 3R A & gl |
e Ig 63 Tec I91 ¢ f T§ el 9T 99T ¢ -

Options :

750
1. %

756
2. ¥

856

8350

Question Number : 102 Question Id : 7150535154 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In a garden, there are mango and orange trees. The number of mango trees 1s 8
more than twice the number of orange trees. If the number of mango trees 1s

108, then the number of orange trees is

U TS A A 3N FAR F 96T § | A & el HOHG AR F Gl F gIe
g 3l § | IR 31 F el 1 §eam 108 g of G & el T §EAT -

Options :

3

L]

1. %



Question Number : 103 Question Id : 7150535155 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the exterior angles of a triangle 12 108" and the interior opposite angles

to 1t are 1n the ratio 5 : 4, then the ratio between the greatest and the smallest

angles of that triangle 1s

U Tret @1 Al i 108° 5 Al R Fior F Fil 1 seaa 5 : 4,
aa 39 FEie & w93 3R e oI FI0 H 3

Options :

3:2
1.4

]
[ %]



Question Number : 104 Question Id : 7150535156 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose a correct statement related to natural numbers.
Wi TG @ Hald HET w2 gew

Options :

All prime natural numbers are odd.

1 uﬂaﬁmmﬁﬁwgﬁ—rﬁﬁl

Sum of two prime natural numbers is always even.

. O T S F AT §H Ee gl ¢ |

All even natural numbers are composite numbers.

il T 9pfde GEal osg HE gidl ¢ |

The sum of two odd natural numbers and one even natural number 1s
always even.

ol TaweT T3t & A9 3N U §H GEAT o AET AT §H HEA il § |

Question Number : 105 Question Id : 7150535157 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



If the curved surface area of a cone i1s 204.1 cm® and radius is Scm. then the
vertical height of a cone (in em) is (Take m = 3.14)

U oF & g eRIdel &1 aAnel 204.1cm? 3R 3 @A/ Scm § O 3@ U
oFdd $d5— cm (Take m = 3.14)

Options :

11.97
%

Question Number : 106 Question Id : 7150535158 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose an arithmetic progression from the following

ol A & gAEIGT Aol &1 ggareT
Options:

0:3;0.33,0.333, 03333, ..
1. %

—1.4, 44 —74,104, §

2. %



Question Number : 107 Question Id : 7150535159 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A circle with radius 18cm is inseribed in a square. then the area of the square
(in cm?) is

U I TIHl 3 18 cm § 36! U 997 A 3ifehd fomdm df 38 991 &

& Ahel — (om?) A

Options :

1296

Question Number : 108 Question Id : 7150535160 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A quadrilateral ABCD in which #BAD = /DBC = 90°,AB = 12 cm,BC = 20cm,
CD = 25cm and AD = 9cm, then the area of the quadrilateral ABCD (in cm?) is
ABCD T Tesfst T ~BAD = £DBC = 90°, AB = 12 cm, BC = 20cm,

CD = 25cm 3 AD = 9cm, d9 ABCD ﬂqﬁfﬁ &1 &A% (cm?) H

Options :

408

1. %

o
(]
|
A

204

108

Question Number : 109 Question Id : 7150535161 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mean of all prime numbers between 40 and 70 1s

40 3T 70 & AL T TEATHT HT HLIHAWT
Options :

51.67
1. %

61

L]
[

= |
h



L]
[%]

Question Number : 110 Question Id : 7150535162 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sum of the reciprocals of Vani's age (in years), 5 years ago and 7 years from

- 2 T S T : . '
now is . If present age of Vani 18 't years, then this situation can be

represented in the quadratic equation as

ot 1 379, 5 @ T AT I A 7 A T & orA 31 AT . ¢ 2 ah
i IoA 3 ' 98 9 30 Fae F gfaEnfoy FHEr A qid @

Options:
2 ) .
1 % X Tx+44 =20
2 —7x—44=0
2.9
x?—11x—-26=0
3. %
2 T _
4 % ¥ +11lx—26=10

Question Number : 111 Question Id : 7150535163 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The distance of the point P (12, 5) from the origin is (in units)
g @ P fa=q (12, 5) & 7= g0 (3FE #)

Options :

Question Number : 112 Question Id : 7150535164 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

4 men can do a piece of work in 52 days, then the number of days 13 men can

finish the same work 1s

4 FCHT U FH P 52 AT H Fd ¢ | ag 13 g 39 FH I el GaAr A
qoT |

Options :

20



(s

Question Number : 113 Question Id : 7150535165 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose an INCORRECT statement related to zets.

=T O Getad 30cT 2 Fl 9gdri=v
Options :

Every set 1s a subset of itself.

U GHTAY 39 99 39 @H<9Y gidl ¢ |

The set of letters in the English alphabet is a finite set.

33l UTATAT & 3ERT F1 H=ag 9RHAd giar § |

The intersection of any two disjoint sets 13 a null set.

e o & IHEYFT FH=AAT F1 Fidwded ReFd qoeay giar g |

The set of integers which lie between 4 and 35 1s an infinite set.

4 3R 5 & AT qUiiel HT TH=IT 3=d @il ¢ |

Question Number : 114 Question Id : 7150535166 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



An observer of height 1.5m is 15meters away from the foot of the tower. the
angle of elevation of the top of the tower 15 45 from his eve, then the height of
the tower (in meters) is

U AR F IS 15 A g S vh et @ 15 e g W g e e d
T & 370 HIOT 45° T g df e fob 3915 — HAeqa &

Options :

16.5

Question Number : 115 Question Id : 7150535167 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“A student was able to utilize the probability in his daily Iife”, then the

academic standard attained by the student 1s:

U BT 39l Gl ofidel A HATEAAT 1 3TART 1 A H&IH ¢ ol oF all 9ied
e A9Es § -
Options:

Reaszoning and proof

1335#1?&';4141137



Communication

2. %

Connections

FalFalel
3. v

Visualization and representation

. faststengorers 3 giafefeea

Question Number : 116 Question Id : 7150535168 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The "Propositional Phase" is related to this learning approach of mathematics:
YEdEcAS 90T 01T & 38 diEs & Tfte Fivr § gafug §

Options :

Collaborative learning approach

_— HgdaTcHs TR Tivehior

Problem solving approach

5 % TEACATHATEN TiSCehioT

Concept mapping

3¢Wq?nnmﬁaw



Experiential learning

JeAeAdTcHS e

Question Number : 117 Question Id : 7150535169 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Read the following pairs related to “aids used in learning mathematics and

activities that can be done with them”.

0T W@l 3 9gad giel arell Teris FEFET 3R 38 7 S Gehel arel

afafafer ﬁﬂﬁﬁiﬁﬁmﬁﬁﬂﬁa’lﬁa’iﬁq‘& |

A} Abacus :  Addition and subtractions of decimals can be taught.
AR . geHed & Sig 3 gea EErn o g6dar g

B} Grid paper : The area of a rectangle can be caleulated.
farzday . U T & &FABd &I 0T H o Tohal ¢

C) PFractionsdise : Itcan be shown that as the value of the denominator

mecreases, the value of the fraction decreases.

fieeT e . Ig CErn o gt ¢ & o o g #1 A dedl ¢
fieet &7 A "ear ¢

D) Cuisenaire Strips: Multiplication and divisions of large numbers can be

done.

T eq ;% Gt 1 o AR A B S e g

Choose the correct pairs/ answer:
Ter A/ 39 I FL
Options :
B & D only
1 % $ad B& D

AB& C {}1113'

Fad AAB&C
2.



A.C& Donly

- Fdd A, C& D

ABC&D
%

Question Number : 118 Question Id : 7150535170 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Read the following statements related with teaching and learning plan:

fRreor 3T s A @ gdfaa B ifaa &2 96 -

A) A teacher designs the leszon plans according to his ideas to organize the

teaching and learning experiences for the topic chosen.

T feTe g I fawa & feiv fReror 3k e & spEl @ cgateerd
F! & T 37 AR & TR 916 At IR &4 § |

B) The year plan should be prepared at the end of the academic year.

arieh Atoter AeIfUid af & 3d & IR i S a@1fge |

Chooze the correct answer:

el 3a¢ 989 L
Options :

A 1s true and B 15 false

A T 3T B 38T
1.9

A 15 false and B 1= true

5 » A 3T 3R B 5



Both A and B are false
A 3T B gt 3@

Both A and B are true

4 x A 3B Qe weT

Question Number : 119 Question Id : 7150535171 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the words in the mathematics question paper that enable the students

to think and respond mathematically among the following:

AT 9o 99 & AEAiad eear 7 & 39 sl b 9gae Y of ©F & Auda

9 § Hiee 3N 3 S A HeH F9d g |
A) Analyze
fareeroT HY
B) Confirm
Flf?tr L
C) Proveit

facer &1

D) Give the reason

HRUT I

ChDCISE‘ thE‘ COITect answer.
el I Thed HY

Options:

A& C 011]3'

ad A& C
'|_$3



A Bé& Donly
Fa7 A, B& D

B.C & Donly

_ dael B.C& D

4 AB.C&D

Question Number : 120 Question Id : 7150535172 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Read the following statements related with the mathematics curriculum:

AU MoUHA & Tard e ofad Fad 16 -

—‘ﬂ The present mathematics text books of the School Education, Telangana

are written in topical approach.
Thel TRIGT e &1 adAwT A1 $ ST Frad ARARE eischior 7 fadr
TS

B'} Extensive learning of mathematical concepts and topics takes place in the

concentric approach.

ol srEemomst 3 vt fF e fReT sega oftceor F g &

C}JDDSE‘ EhE‘ COITect answer:
g 39 T F

Options:

A 1s true and B 1s false

. A TcT 3T B 3T

2. &



A 15 false and B 1= true

A 39T and B 9

Both A and B are false

.« A 3R B 2 e

Both A and B are true

4wA3ﬂIBa’|?ﬁ:Ha:r

Science
SectionId : 715053154
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715053256
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 121 Question Id : 7150535173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The period of revolution of the planet Venus is (approximately)
Ak AT N INGHHUT FIel (F70T) ¢ |
Options :

88 days

1.33881’3?[

]
]
L]
(=19
[+
A
[}

]
o
an

687 days
3 % 687 et

12 vears

12 a9

Question Number : 122 Question Id : 7150535174 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

To find out the density of any liquid. we use

fordT ga T gdca A 3 & AU, g9 39dE :3a § |

Options :

Hydrometer

1.+ =



Barometer

z_ﬁémvfﬂa

Odometer

e
3, %

Hygrometer

gISaHIeT

4, #

Question Number : 123 Question Id : 7150535175 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The focal length of a lens suggested to a person with Hypermetropia 13 75 em. Find

the distance of near point.

IEfse U7 (FEWAIT) & fRd cafFd # GEe T o B Biehel s 75 A,
¢ | e fawg &7 gl (detra) A AT |

Options :

-37.5cm

375 @A

18.75 em
18.75 O.HI.



18775 ecm

4w -18.75 4.9

Question Number : 124 Question Id : 7150535176 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement among the following.
HFT Fa=l F 39T U I gl HIfAT |

Options:

Newton's first law of motion apply to a single body.

#gea 1 Afd H1 ggell HTH v & [Ovs 9T &@F) glan ¢ |

Newton's second law of motion apply to a single body.

=gee @ Afd 1 gEl =@aH vk § e 9T &y gldr ¢ |

Newton's third law of motion apply to a single body.

wJed @ AT & dET 77 v &1 {995 9 &) gdr ¢ |

Newton's third law of motion applies to an interaction between the two bodies.

e @1 AT 1 e bgd of TSt &1 3id frar o3 aep giar ¢ |

Question Number : 125 Question Id : 7150535177 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In series connection of resistors, which of the following remains constant i the
eircuit?
giaret & Avfiesd gaies & 9ftey & #r R @ar g ?

Options :

Power

e

1. %

Current

2.#1%@’ ETRT

Electro motive force

, o T AT T

Voltage

Question Number : 126 Question Id : 7150535178 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of ore and its metal among the following

freifeifad & & 3/aer 3 39T a1g # @1 S ggare |

Options :

Epsom salt : Mg

UCHA ¢duT : Mg
1.4



Cinnabar : Zn

aaar - Zn

Haematite : Mn

- gHerse - Mn

Rock salt : Ca

4ﬁﬁﬂTF~|ﬁﬂT:Ca

Question Number : 127 Question Id : 7150535179 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the values of ‘X' and *Y" in the following chemical reaction.

e 1 garEaEs gdHeEwer 7 X 3J Y & A AT fIfET |
Na,CO, + X HCl — Y NaCl + H,0 + CO,

Options :

X=1.,¥=1

B SR



Question Number : 128 Question Id : 7150535180 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The rate of diffusion of gases is
At & g freg

Options:

higher than that of liquids or solids

y ad a1 a3 O fes

lower than that of liquids or solids

ad 41 o/ 9 &H

higher than that of liquids and lower than that of solids

et gerat $1 geer 7 e 3R S B gEen 7 FH

lower than that of liquids and higher than that of solids

el derat &1 defelr A FH 3R st Fr Jerar 7 it

Question Number : 129 Question Id : 7150535181 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Rancidity is a/an

ardiaed U YR & gfafrar g |

Options:



Precipitation reaction

FETYUT Yicfehar

Reduction reaction

=gsiieRtoT gfdfear
2. %

(Oxidation reaction

3. ¢

Neutralization reaction

4w3‘mﬂ?ﬁwqﬁﬁw‘m

Question Number : 130 Question Id : 7150535182 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Atomicity of Sulphur
T T ILATOTAT
Options :

Monoatomic

AR #AE
1. %

Diatomie

2. % J 2



Triatomic

[ERCC e

Oectatomic

Question Number : 131 Question Id : 7150535183 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The maximum value of “I" forn =5
n=5 & f&T “I" &1 3ifEsaa A

Options :

Question Number : 132 Question Id : 7150535184 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How many electrons do Group III A elements lose to form stable 1ons?
aHg 111 A & ded R 3« delel & v fahdel Seidea @id 87
Options :

17, % 2

Question Number : 133 Question Id : 7150535185 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

These blood cells move like amoeba to attack and destroy by engulfing the foreign

materials mside them, and are called ‘scavengers’.

U Td FIRGN 3T F7 TG 3HRAT Fa 3N 397 3eT & faceh gerf # e
A FT fold Tkl ¢ 3N TAT (Acdrdsitd) $gord ¢ |

Options:

Erythrocytes

. TRuEscE

1.

Monocytes

AlAraISCH

2. ¥



Lymphocytes

Eosinophils

s3It

Question Number : 134 Question Id : 7150535186 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the most forgetful animal

HIY 3fofeehs Sl &l 9gare HL |
Options :

Mouse

gl

1, * i

Cat
ICEGI

Rabbit
., T

Squirrel

forergdr

4. &



Question Number : 135 Question Id : 7150535187 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Amoeba keeps on changing its shape by protruding out its body. These projections

that help it 1n 1tz locomotion are called

3T 379e e AT SRt 39T R Jeedr Wl ¢ | d VAT S Sud afg
H WEHIT $d ¢, Fgd ¢ |

Options :

Pseudopodia

TEaar

1.¢  °

Tentacles

TR

Fins

Cilia
faferar

Question Number : 136 Question Id : 7150535188 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Nimbin, an alkalpid which 1s used as an Antiseptic 1s produced in the seeds, bark

and leaves of
fATFae, v Uewhdiss Srger 39aeT vRAftes & fRar oiar § e, o1 3 gt &
39 gicl ¢ |

Options :

Cinchona officinalis

1$1ﬁﬂaﬂmaﬁﬁf@ﬁfﬁﬂ

Papavar somniferum

Zﬁwmﬁw

Azadirachta indica

ST g

Datura stramonium

4. % °

Question Number : 137 Question Id : 7150535189 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The type of reproductive process seen in Hydra is
g1SgT & Yoleled 9fehaT & 9K &@T STl § |

Options :

Regeneration

Jefolelsl

1.% =



Fission

2. %

Fragmentation

_ fa@ShToT (chst #)

Budding
4. & gl

Question Number : 138 Question Id : 7150535190 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following does not belong to classification of cell types suggested by Woese

g AT CaNT G T PR & it § e
Options:

Monera

Al

1.4

the Archaea

3R
2_%-5

the Bacteria

5 x I



the Eukarya

IeRfiar

Lo

Question Number : 139 Question Id : 7150535191 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

This vitamin helps bones and skin in remaining healthy

oaaT 3R g3fEAr 1 T W 7 399 @A -
Options :

Vitamin ‘D

faert#@st ‘D

1.4

Vitamin ‘E’

Vitamin ‘A’

[CEAIEE LY

Vitamin ‘K’

@ I

Question Number : 140 Question Id : 7150535192 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The laziest of honeybees are
o5t A way el AyAfREAi

Options :

Worker bees

& T

Queen bees

Drones

30 3

Nurse bees

A8 AgAFEA
4, %

Question Number : 141 Question Id : 7150535193 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Unlike mitosis which 1s a continuous process for division in most of the cells, meiosis

occurs only

fAerfag e FifEt & Gaes & v vs gag giear & od fvda ey
Shael S BT ¢ -
Options :

m blood cells

T Fifr3t

1. %



during the formation of gamates

2¢gmaﬁ$%ﬂ‘mé?aﬁm

n cancer cells

_ FET FIREET A
3. %

during cytokinesis phase of all cell divisions

L w ot FiTeirT fAemaa & wifeer geg Temea & clua

Question Number : 142 Question Id : 7150535194 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following causes peptic ulcers?
FeT & ¥ d¢ & eE (TTel) 7 FROT § |

Options :

Amoeba

HHET

1. %

Helicobacter pylor:

2.«%ﬁaﬂﬂmqﬁﬁi’r

Leishmania

3 % I



Staphylococel

B TthellprE!

Question Number : 143 Question Id : 7150535195 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Plants respire through

gle sad wa@d Fd & |

Options :

Lungs

Stomata /Lenticels
3 @ Tfaraiy

Xylem
ol¥ 47 olselH
4. %

Question Number : 144 Question Id : 7150535196 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Reticulate /Web-like venation is seen in leaves of this plant.

et dter Fr gfgar F Seigr 1 S S Riufasarg ear sar g
Options:

Sorghum

g% 0

Paddy

2, %

Jowar

5 % AR

Cucumber

hehal
4.9

Question Number : 145 Question Id : 7150535197 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In this science teaching method, the students are encouraged to become explorers.

fasmer 1 38 fRTor qeufa A faeafial F Gioedt a9 & v dearfea far S
g |

Options :

Heuristic method

R 2l



Demonstration method

9eRle geid

Lecture method

e 9eufd

Lecture cum demonstration method

S g Ye3ld Jeefd

Question Number : 146 Question Id : 7150535198 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 15 INCORRECT when the measurements of angle of
meldence and angle of reflection obtained are not equal while students conduct an

experiment to prove the laws of reflection of light?

B & gl Yol & Sidfdd & faat & fey 4 & folv 73 ad 9A/g o7 39
FNT T AT TAar HIOT & AT & SUaL o @ o $ieT J1 FT 30T ¢

Options :

The experiment should be conducted a few more times so that the correct results

are obtaned.

- 92T T F@ N A AT AgU i e 9RO e fHar ST Heh|

The teacher should complete the experiment.

JWﬁﬂwmq\ﬂimeﬁvl
2.-\./



Reasons for poor experimental results should be discussed.

ITed IRAIER 9NOMAT & FRON & 99 7 g4l il diige |

%

Precautions to be taken and factors should be identified by the students.

n raenfeldl Sd=r d1fge 3R SET Ff FRE T 95 HL=r ART |

Question Number : 147 Question Id : 7150535199 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Psychomotor domain 1s related to
TEFHACR A frad ddfaa § |
Options :

Head
R

Heart

Hand

ol
3.v

Knowledge

4 % 0T



Question Number : 148 Question Id : 7150535200 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following represents theoretical knowledge
f=fafaa # & ve deufas 7= &1 afaffeca sw@r ¢ |

Options :

Concepts

IO

1.¢

Direct gbservation

Qe Iidolldhst

2. %

Instrumental gbservation

HIHIUT Hdcllched
3, %

Fact

azd

Question Number : 149 Question Id : 7150535201 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following i1s NOT a criteria for a successful project at school level
Thell T W fAriTelf@d & & U qhel GRS F foIU AlEs w60 § |

Options :



1t should be relevant to the needs of the student

qg ©F HI IJaTSha3t & [@v s glar afge |

1t should be rewarding to the student

. I facanft & v ommg gar arfge |

2.

it can be expensive for getting best results

JWWWW%W%W?W%]
3. ¢

it should be practicable

I ShAgIiie e =gy |

4, ®

Question Number : 150 Question Id : 7150535202 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A science teacher has received hydrochloric acid, copper sulphate and magnesium
wire from the management for use in the science laboratory. The teacher should

make entry of these things in the

U A ATE & A SRR # 393 & v Aegred TeE ¥ gRaadinG
am,ﬁmﬂmaﬁtﬂuﬂﬁwanmgmwaaﬂﬁﬁmﬁmﬁm
F Toidr S aifge |

Options :
Breakable stock register

1ﬁmﬂm”$ﬁﬁlm



Consumable stock register

3P Tld Mol

Permanent stock register

3 % T el Teieed

Order stock register

=T Tl ey
4, %



